

517.95

alopushanskyj@gmail.com

$\alpha \in (0,1)$ ([1] - [13]).

$\{V_0, V_1\}$

A

V_0

$V_1 \subset V_0$.

1.

$$D_t^\alpha g(t) = f_{-\alpha}(t) * g(t) \quad \alpha \in R$$

$g(t)$,

$$f_\lambda(t) = \frac{\theta(t)t^{\lambda-1}}{\Gamma(\lambda)} \quad \lambda > 0 \quad f_\lambda(t) = f'_{1+\lambda}(t) \quad \lambda \leq 0,$$

$$\Theta(t) = \dots, \Gamma(\lambda) = \dots \quad ([14], \text{ c. } 87),$$

$$I_t^\alpha g(t) = f_\alpha(t) * g(t) = \frac{\theta(t)}{\Gamma(\alpha)} \int_0^t (t-s)^{\alpha-1} g(s) ds, \quad \alpha > 0,$$

$$\partial_t^\alpha g := \frac{d}{dt}(f_{1-\alpha} * g)(t) - f_{1-\alpha}(t)g(0), \quad \alpha > 0 \quad g(t).$$

$$(f_\lambda * f_\mu)(t) = f_{\lambda+\mu}(t), \quad \lambda, \mu \in R \quad ([14], \text{ c. } 87).$$

$$D_t^\alpha g(t) = \frac{d}{dt} I_t^{1-\alpha} g(t), \quad \partial_t^\alpha g(t) = D_t^\alpha (g(t) - g(0)),$$

$$I_t^\alpha \partial_t^\alpha g(t) = g(t) - g(0), \quad \partial_t^\alpha I_t^\alpha g(t) = g(t), \quad t > 0, \quad \alpha > 0.$$

A ó

$(V_0, \|\cdot\|_{V_0})$

$V_1 \subset V_0$.

V_1

A ,

V_1

$$E_{10}: V_1 \rightarrow V_0$$

[6] (Prop.1)

A ó

$\{\Phi_A(t)\}_{t \geq 0}$

V_0 ,

$$R(\lambda - A) = (\lambda - A)^{-1}$$

$$V_0 \quad [15] \quad \int_0^\infty e^{-\lambda t} \Phi_A(t) h dt = (\lambda - A)^{-1} h \quad \operatorname{Re} \lambda > \omega(\Phi_A),$$

$$\omega(\Phi_A) = \inf \left\{ \omega > 0 : \sup_{t \geq 0} \|e^{-\omega t} \Phi_A(t)\|_{\mathcal{L}(V_0)} < \infty \right\},$$

$v \in C([0, \infty); V_1)$

$\alpha \in (0,1), h \in V_1$ ó

$$D_t^\alpha v(t) = Av(t) + f_{1-\alpha}(t)v(0), \quad v(0) = h, \quad (1)$$

$t \geq 0$

$\partial_t^\alpha v$,

$L[\partial_t^\alpha v]$,

$v(t)$

$$I_t^\alpha v(t) \in V_1 \quad v(t)$$

$$\partial_t^\alpha v(t) = Av(t), \quad v(0) = h, \tag{2}$$

$$v(t) = AI_t^\alpha v(t) + h, \quad t \geq 0. \tag{3}$$

$$v \in C([0, \infty); V_1), \quad I_t^\alpha v(t) \in V_1, \quad v(t) \tag{13}$$

(1), (2). [6] (Prop.1) $v'(t) \in V_0$ $v(t)$

$$S_{\alpha,A}(t)h = \int_0^\infty \frac{t}{\alpha s^{1+\frac{1}{\alpha}}} g_\alpha \left(\frac{t}{s^\alpha} \right) \Phi_A(s) h ds = \int_0^\infty \Phi_A \left(\left(\frac{t}{s} \right)^\alpha \right) g_\alpha(s) h ds,$$

$$g_\alpha \text{ ó } \exp(-\lambda^\alpha), \quad \int_0^\infty e^{-\lambda t} g_\alpha(t) dt = \exp(-\lambda^\alpha).$$

[5] [15] , A

$$\{S_{\alpha,A}(t)\}_{t \geq 0} \quad V_0,$$

$$Z \left(\frac{\pi}{2} + \alpha' \right) = \left\{ re^{i\omega}; r > 0, |\omega| < \frac{\pi}{2} + \alpha' \right\}, \quad \alpha' < \alpha, \quad t,$$

$$\{f_{1-\alpha}(t) * S_{\alpha,A}(t)\}_{t \geq 0} \quad Z(\alpha), \quad v(t) = S_{\alpha,A}(t)h, \quad t > 0$$

(1) $h \in V_0$, h ,
 $g \in L_1([0, T], V_0)$ $T > 0$,

$$u(t) = AI_t^\alpha u(t) + h + \int_0^t g(s) ds, \quad t \in [0, T]$$

$$u(t) = S_{\alpha,A}(t)h + \int_0^t S_{\alpha,A}(t-s)g(s) ds, \quad t \in [0, T].$$

[10] $C', C_m, m \in N,$

$$\|S_{\alpha,A}(t)\|_{L(V_0)} \leq \frac{C'}{1 + |r(A)|t^\alpha}, \quad t \geq 0, \tag{4}$$

$$\left\| \left(\frac{d}{dt} \right)^m S_{\alpha,A}(t) \right\|_{\mathcal{L}(V_0)} \leq \frac{C_m}{t^m}, \quad t > 0, \quad m \in N.$$

(1)

$$[8], \quad D_t^\alpha u(t) = Au(t) + D_t^{\alpha-1} g(t) \quad \alpha \in (1, 2)$$

[11], ,

[15], [16].

$$l_\omega := \{re^{i\omega} : r > 0\} \text{ ó } \omega \in [0, 2\pi],$$

$$\omega_0 \in \left(\frac{\pi}{2}, \pi \right) \quad C$$

$$\{0\} \quad \Lambda_0 := \bigcup \{l_\omega : \omega \in [-\omega_0, \omega_0]\} \quad \Lambda := \Lambda_0 \bigcup \{0\}.$$

$$A \quad A: V_1 \mapsto V_0,$$

$$(\lambda E_{10} - A)^{-1} \quad \lambda \in \Lambda$$

$$L(V_0; V_1) \quad V_0 \quad V_1, \dots$$

$$A := \left\{ A \in L(V_1; V_0) : \sup_{\lambda \in \Lambda} (\lambda E_{10} - A)_{L(V_0, V_1)}^{-1} = K(A) < \infty \right\},$$

$K(A)$

$$\rho(A) := \left\{ \lambda : (\lambda E_{10} - A)^{-1} \in L(V_0; V_1) \right\} \quad \sigma(A) := \mathbf{C} \setminus \rho(A)$$

A , [17] () , A

$$\rho(A) \ni \lambda \mapsto (\lambda E_{10} - A)^{-1} \in L(V_0; V_1).$$

$$R(\lambda, A) := E_{10} (\lambda E_{10} - A)^{-1} \in L(V_0, V_0) := L(V_0) \quad \lambda \in \rho(A).$$

$$r(A) := \sup \{ \operatorname{Re} \lambda : \lambda \in \sigma(A) \} \quad V_0. \quad A$$

$$S_{\alpha, A}(t) = \frac{1}{2\pi i} \int_{\gamma} e^{\lambda t} \lambda^{\alpha-1} (\lambda^\alpha - A)^{-1} d\lambda, \quad t \geq 0$$

$$\gamma \in r(A) + \Lambda \quad [10].$$

$$A \text{ ó } r(A) \quad \omega_0 \in \left(\frac{\pi}{2}, \pi \right).$$

$$J \in A. \quad [17]-[19], \quad -J:$$

$$(-J)^{-g} = \frac{1}{2\pi i} \int_{\Gamma_{a, \omega}} \frac{R(\lambda, J)}{(-\lambda)^g} d\lambda \in L(V_j), \quad 0 < g < 1, \quad j = 0, 1,$$

$$\Gamma_{a, \omega} := \{ r e^{-i\omega} : r \geq a \} \cup \{ a e^{i\tau} : \tau \in [\omega, 2\pi - \omega] \} \cup \{ r e^{i\omega} : r \geq a \}$$

$$a : 0 < a < r(A) \quad \omega : \omega_0 - c \leq \omega \leq \omega_0, \quad \frac{\pi}{2} < \omega_0 - c < \pi. \quad (-J)^{-g}$$

$$[19] \quad (-J)^{-g} (-J)^{-g'} = (-J)^{-g-g'}, \quad \forall g, g' > 0.$$

$$V_g \quad J^g \quad (0 < g < 1)$$

$$\|x\|_{V_g} := \|(-J)^g x\|_{V_0}. \quad V_g = [\cdot, \cdot]_g \text{ ó } \{V_0; V_1\},$$

$$[18], \quad 1.15.3).$$

$$[19] \quad , \quad J_{V_1} \quad (A_{V_1})$$

$$\text{c. 1706171, } \Phi_J(t) \quad \omega_0 \quad \{V_0; V_1\}, \quad [17],$$

$$V_0, V_1:$$

$$\Phi_J(t) = \frac{1}{2\pi i} \int_{\Gamma_{a, \omega}} e^{(t)\lambda} R(\lambda, J) d\lambda \in L(V_0) \cap L(V_1), \quad t \geq 0$$

$$\Phi_A(t) \in L(V_0) \cap L(V_1), \quad J_{V_\theta} \quad A_{V_\theta}$$

$$\omega_0 \quad \{V_\theta; V_{1+\theta}\}.$$

2.

$$(A): A \in A, \quad \alpha, \theta \in (0, 1), \quad X \in L(V_\theta, V_0), \quad h \in V_1.$$

$$(G_{in}) : g \in C([0, T]; V_1), \quad f_{\alpha-1} * g \in C([0, T]; V_1).$$

$$D_t^\alpha u(t) = (A + X)u(t) + D_t^{\alpha-1} g(t) + f_{1-\alpha}(t)u(0), \quad u(0) = h. \quad (5)$$

$$C^\alpha := \{v \in C([0, T]; V_1) : \exists D^\alpha u \in C((0, T]; V_0)\}$$

$$u(t) \in C([0, T]; V_1) \quad (5)$$

$$I^\alpha u = f_\alpha * u \in C([0, T]; V_1).$$

$$1. \quad A \in A, \quad \theta \in (0, 1), \quad X \in L(V_\theta, V_0), \quad A + X|_{V_1} \in A, \quad \Lambda \subset \rho(A) \cap \rho(A + X)$$

$$\|R(\lambda, A + X)\|_{L(V_0)} \leq 2 \|R(\lambda, A)\|_{L(V_0)}, \quad \forall \lambda \in \Lambda.$$

$$\left\| \left(\lambda E_{10} - \frac{A}{s} \right)^{-1} \right\|_{L(V_0, V_g)} \leq \frac{C'' s^\theta}{\lambda^{1-\theta}}, \quad \forall \lambda \in \Lambda \setminus \{0\}, \quad \forall s > 0.$$

$$\left\| (\lambda E_{10} - A)^{-1} \right\|_{L(V_0, V_g)} \leq \frac{C''}{a^{1-\theta}}, \quad a = \left[2C'' \|X\|_{L(V_g, V_1)} \right]^{\frac{1}{1-\theta}},$$

$$\|X(\lambda E_{10} - A)^{-1}\|_{L(V_0)} \leq \|X\|_{L(V_g, V_0)} \left\| (\lambda E_{10} - A)^{-1} \right\|_{L(V_g, V_0)} \leq \frac{1}{2}.$$

$$L(V_0)$$

$$\left[E_{00} - XE_{1\theta}(\lambda E_{10} - A)^{-1} \right]^{-1} = \sum_{k=1}^{\infty} \left[XE_{1\theta}(\lambda E_{10} - A)^{-1} \right]^k$$

$$\left\| \left[E_{00} - XE_{1\theta}(\lambda E_{10} - A)^{-1} \right]^{-1} \right\|_{L(V_0)} \leq 2 \quad \lambda \in \Lambda.$$

$$(\lambda E_{10} - A - XE_{1\theta})^{-1} = (\lambda E_{10} - A)^{-1} \left[E_{00} - XE_{1\theta}(\lambda E_{10} - A)^{-1} \right]^{-1}$$

$$\left\| (\lambda E_{10} - A - XE_{1\theta})^{-1} \right\|_{L(V_0, V_g)} \leq 2 \left\| (\lambda E_{10} - A)^{-1} \right\|_{L(V_0, V_1)}$$

$$\lambda \in \Lambda, \quad X \in L(V_g, V_0), \quad X \in L(U, V_0)$$

$$\|X\|_{L(U, V_0)}, \quad U \in \{V_0, V_1\}$$

[20].

$$2. \quad (A) \quad (G_{in}) \quad u \in C^\alpha, \quad (5)$$

$$u \in C([0, T]; V_1)$$

$$u(t) = (A + X)(f_\alpha(t) * u(t)) + \int_0^t g(s) ds + h, \quad t \in [0, T]. \quad (6)$$

$$1 \quad A + X|_{V_1} \in A \quad \Lambda \subset \rho(A) \cap \rho(A + X), \quad g \in C([0, T]; V_1)$$

$$\int_0^t g(s) ds, \quad t \in [0, T], \quad C([0, T]; V_1).$$

$$I_t^\alpha u(t) = (A+X)I_t^\alpha u(t) = (A+X)(f_\alpha * u)(t) \quad (5), \quad u(t) \in V_1 \quad (5)$$

$$I_t^\alpha (A+X)u(t) = (A+X)I_t^\alpha u(t) = (A+X)(f_\alpha * u)(t) \quad (6).$$

$$u \in C([0, T]; V_1) \quad (6), \quad D_t^\alpha$$

$$(6) \quad \int_0^t g(s) ds = f_1(t) * g(t)$$

$$D_t^\alpha \left(\int_0^t g(s) ds \right) = f_{-\alpha} * (f_1(t) * g(t)) = (f_{-\alpha} * f_1(t)) * g(t) = f_{1-\alpha} * g(t) = D_t^{\alpha-1} g(t)$$

$$1. \quad D_t^\alpha u(t) \in V_0 \quad (u \in C^\alpha) \quad u \in C^\alpha \quad (5),$$

$$u(t) = S_{\alpha, A+XE_{1,g}}(t)h + \int_0^t S_{\alpha, A+XE_{1,g}}(t-s)g(s)ds, \quad t \in [0, T] \quad (7)$$

$$E_{1,g} \in V_1 \rightarrow V_g.$$

$$1 \quad A + XE_{1,g} \in A \quad \Lambda \subset \rho(A) \cap \rho(A+X),$$

$$\Phi_{\alpha, A+XE_{1,g}}(t) \quad [20], [21], \quad S_{\alpha, A+XE_{1,g}}(t) \quad v_1(t) = S_{\alpha, A+XE_{1,g}}(t)h$$

$$C^\alpha, \quad (1),$$

$$\frac{d}{dt} I_t^{1-\alpha} S_{\alpha, A+XE_{1,g}}(t) = (A+X)S_{\alpha, A+XE_{1,g}}(t) + f_{1-\alpha}(t) \quad V_1, \quad t \in [0, T].$$

$$\Phi_{\alpha, A+XE_{1,g}}(t), \quad S_{\alpha, A+XE_{1,g}}(t), \quad (G_{lin})$$

$$v_2(t) = \int_0^t S_{\alpha, A+XE_{1,g}}(t-s)g(s)ds \quad C^\alpha.$$

$$A + XE_{1\theta},$$

$$g \in C([0, T]; V_1), \quad v_2(t) \quad (5) \quad h = 0.$$

$$\begin{aligned} D^\alpha (v(t) + v_2(t)) &= D^\alpha \left[S_{\alpha, A+XE_{1\theta}}(t)h + \int_0^t S_{\alpha, A+XE_{1\theta}}(t-s)g(s)ds \right] = \\ &= (A+X)S_{\alpha, A+XE_{1,g}}(t) + f_{1-\alpha}(t)h + \frac{d}{dt} f_{1-\alpha}(t) * (S_{\alpha, A+XE_{1\theta}}(t) * g(t)) = \\ &= (A+X)S_{\alpha, A+XE_{1,g}}(t) + f_{1-\alpha}(t)h + \left(\frac{d}{dt} f_{1-\alpha}(t) * S_{\alpha, A+XE_{1,g}}(t) \right) * g(t) = \\ &= (A+X)S_{\alpha, A+XE_{1,g}}(t) + f_{1-\alpha}(t)h + \left[(A+X)S_{\alpha, A+XE_{1,g}}(t) + f_{1-\alpha}(t) \right] * g(t) = \\ &= (A+X)S_{\alpha, A+XE_{1,g}}(t) + f_{1-\alpha}(t)h + (A+X)(S_{\alpha, A+XE_{1,g}}(t) * g(t)) + f_{1-\alpha}(t) * g(t) = \\ &= (A+X) \left[S_{\alpha, A+X}(t) + S_{\alpha, A+XE_{1,g}}(t) * g(t) \right] + f_{1-\alpha}(t)h + f_{1-\alpha}(t) * g(t) = \\ &= (A+X) \left[S_{\alpha, A+XE_{1,g}}(t) + \int_0^t S_{\alpha, A+XE_{1,g}}(t-s)g(s)ds \right] + f_{1-\alpha}(t)h + D_t^{\alpha-1} g(t). \end{aligned}$$

$$(7) \quad C^\alpha \quad (5).$$

$$u_1, u_2 \in C^\alpha, \quad (5), \quad u = u_1 - u_2$$

$$D_t^\alpha u(t) = (A+X)u(t), \quad u(0) = 0,$$

$$u_1(t) = u_2(t), \quad t \in [0, T].$$

$C([0, T]; V_1)$

(A), (G_{lin}) .

(7).

(6)

3.

A,

$$L(x, D) = \sum_{|\gamma| \leq 2m} a_\gamma(x) D^\gamma, \quad a_\gamma(x) \in L_\infty(\Omega)$$

$$\operatorname{Re} a(x, \zeta) = \operatorname{Re} \sum_{|\gamma|=2m} a_\gamma(x) \zeta^\gamma > 0, \quad \zeta \in \mathbf{R}^n \setminus \{0\}, \quad x \in \Omega,$$

$$\gamma = (\gamma_1, \dots, \gamma_n) \quad \text{ó} \quad |\gamma| = \gamma_1 + \dots + \gamma_n, \quad D^\gamma = \frac{\partial^{|\gamma|}}{\partial^{\gamma_1} \dots \partial^{\gamma_n}}, \quad \zeta^\gamma = \zeta_1^{\gamma_1} \dots \zeta_n^{\gamma_n},$$

$$a_\gamma \in L_\infty(\bar{\Omega}), \quad |\gamma| = 2m \quad \bar{\Omega} \subset \mathbf{R}^n \quad C^\infty,$$

$$\{B_j(x, D)\}_{j=1}^m = \left\{ \sum_{|\gamma| \leq k_j} b_{j,\gamma}(x) D^\gamma \right\}_{j=1}^m \quad ([22], \text{ c. } 178), \quad L(x, D)$$

$$[23] \quad k_j < 2m\vartheta - \frac{1}{p} \quad j = 1, \dots, m,$$

$$D^\alpha u_t = [L(x, D) + L_1(x, \theta)] u + D^{\alpha-1} f(x, t) + f_{1-\alpha}(t) h(x) \quad x \in \Omega, t \in [0, T] \quad B_j u|_{\partial\Omega} = 0, \\ j = 1, \dots, m \quad u(x, 0) = h(x) \quad (8)$$

$$C^\alpha(\Omega \times [0, T]; H_{p, \{B_j\}}^{2m}(\Omega)) := \left\{ v \in C(\Omega \times [0, T]; H_{p, \{B_j\}}^{2m}(\Omega)); \right. \\ \left. \exists D_t^\alpha v \in C(\Omega \times (0, T]; H_{p, \{B_j\}}^{2m}(\Omega)) \right\}$$

$L_1(x, \theta)$ ó

$$a_1(x, \xi) = \left[\sum_{|\alpha| \leq 2m} a_{1\alpha}(x) (-i\xi)^\alpha \right]^\vartheta,$$

$a_{1\alpha}$ ó Ω ,

$$L_1(x, \theta)v(x) = F_{\xi \rightarrow x}^{-1} \left[a_1(x, \xi) (F_{x \rightarrow \xi}[v])(\xi) \right], \quad v \in H_{p, \{B_j\}}^{2m}(\Omega),$$

$H_p^{2m}(\Omega)$ ó ([24], c.79),

$$V_1 = H_{p, \{B_j\}}^{2m}(\Omega) := \left\{ v \in H_p^{2m}(\Omega) : B_j(x, D)v|_{\partial\Omega} = 0; j = \overline{1, m} \right\},$$

$$H_{p, \{B_j\}}^{2m}(\Omega) \quad H_p^{2m}(\Omega) \quad v(x) = 0$$

$x \notin \Omega$.

$$(Av)(x) = L(x, D)v(x),$$

$V_0 = L_p(\Omega)$ ($1 < p < \infty$)

V_1 ,

$$V_\vartheta = H_{p, \{B_j\}}^{2m\vartheta}(\Omega) := \left\{ v \in H_p^{2m\vartheta}(\Omega) : B_j(x, D)v|_{\partial\Omega} = 0; j = \overline{1, m} \right\}$$

$$H_p^{2m\vartheta}(\Omega) \quad 2m\vartheta. \quad L_p(\Omega)$$

$$H_p^{2m\vartheta}(\Omega). \quad f \in C(\Omega \times 0, T; H_{p, \{B_j\}}^{2m}(\Omega)),$$

$$h \in C(\Omega; H_{p, \{B_j\}}^{2m}(\Omega)).$$

[8]

References

- [1] // . 1992. 6 .326,4. 6 C. 5976600.
- [2] // . 1989. .25, 8. C. 135961368.
- [3] // . 1990. . 26, 4. C. 6606670.
- [4] S.D. Eidelman, S.D. Ivasyshen, A.N. Kochubei, Analytic methods in the theory of differential and pseudo-differential equations of parabolic type, Birkhauser Verlag, Basel-Boston-Berlin, 2004. 6 390p.
- [5] Baeumer B. and Meerschaert M. Stochastic solutions for fractional Cauchy problems // *Frac. Calc. Appl. Anal.* 4 (2001). P. 4816500.
- [6] Baeumer B., Kurita S., Meerschaert M.M. Inhomogeneous fractional diffusion equations // *Frac. Calc. Appl. Anal.* 8,4 (2005). P. 371.
- [7] Bazhlekova E. The abstract Cauchy problem for fractional evolution equations // *Frac. Calc. Appl. Anal.* 1,3 (1998). P. 2556270.
- [8] Zaslavsky G. Fractional kinetic equations for Hamiltonian chaos...// *Phys.D.* 76(1994). P. 1106 122.
- [9] Saichev A. and Zaslavsky G. Fractional kinetic equations: solutions and applications// *Chaos.* 1997. 7,4. P. 7596764.
- [10] Cuesta E. Asymptotic behaviour of the solutions of functions integro-differential equations and some time discretizations. *Discrete Cont. Dyn. Sys.* (2007). P. 2776285.
- [11] Cuevas C. Lizama C. Almost automorphic solutions to a class of semilinear fraction siffential equations// *Applied Mathematics Letters* 21(2008). P. 131561319.
- [12] // . 2002. 1. C. 1216123.
- [13] // () . 2008. . 10, 1. C. 25631.
- [14] . 1979. 6 320 . 6 .2- . 6 .:
- [15] Arendt W., Batty C., Hieber M. and Neuberger F. Vector-valued Laplace transforms and Cauchy problems. *Monographs in Mathematics*, Birkhauser-Verlag, Berlin (2001).
- [16] Pruss J. Evolutionary Integral Equations and Applications. *Monographs Math.* , 87, Birkhauser Verlag, 1993.
- [17] . 1992. 6 351 . " " .
- [18] . 1980. , ,
- [19] // . 2006. .49, 4. C. 19627.
- [20] // . 2006. .49, 2. C. 65673.
- [21] // . 2010. .46, 12. C. 179961803.
- [22] . 1990. 6 200 . 6 .:
- [23] Tanabe N. *Equations of evolution.* -- London: Pitman, 1979. 6 260 p.
- [24] . 1972. 6 544 c. " " . 6 .: